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120}17-1 ?Eﬁ#ﬂz%‘%&%éﬁﬁﬂxl (EAHR) 1,800 2,000 smwr_%ﬂ R6.7.29
121]20-1 e EHEEFEEZTEHAL 1 SEH) 1,437 1,600] sl k| R5.11.10
122|131 e EHEEFEEBTEAL (25£EH%) 1,437 1,600] sl @ | R4.12.21

B 123|192 EREEEEETHAI (BEEH) 1,437 1,600] sl k| R5.11.20
124131 HEEHFEEEETEAL WS EH) 1,437 1,600] smul &3] R6.8.29
102|14-1 B EFSEEZTHA 1,700 1,800] smul @3] R6.4.11

103| & 5ThR30RI ZHELSE 1,900 2,100] 2mu1 | R6.9.20

= 1041 B EEFREE 1,900 2,100] smu e | R6.9.30

105|6-25Thr RfBERREE (RULP)1 AREFE 2,610 2900] @=mn R5.2.1
106|EGRFIBTIS ThhY LT NERIRBEDHEES] 630 700] sl L ms | 226 m
108|2-1 &#T ZiHREZHOMES 4,952 5,239 T H20.9.25

109| &7 ER=BRBRAIEERZE 3,510 3,900 @mn R6.9.1

Bl 110)195ThR2RI RSB AR ER 4410 4900 =y R6.5.15
11| SR2EREFTE/INNE 3,960 4400 smy R2.7.10

12| 2 EHMIEZPERBEEQKA 600 1,000] sl @] H28.4.1
1141-2 Z & & #f 755 992 smuirgEe| H16.5.6

115 B E AT BEY =17 L (FEETHR) 2,160 2,400] 2m i1 £ 4mpy ] R5.11.10

& 11612 EBRMESH 1,000 1,238| sl ks | H26.3.22
18| ZEHEICE TR0 BEARBNURTYY 1,155 1,800] sl k| H28.4.15
125|2kET2hR 15/ EHAKROFEIE 1,440 1,600] 2/ tmx| R6.3.1
126|65ThR EIEEE{RE BRE LI 1,080 1,200] sl k| H29.7.10
128A18-4 EXREXFEHBIEV\ETMIR) 5t 5,000 6,800] smui x| R4.10.26
132A40 Z(EEBFHEAREXCD-ROM Verdo 2,600 3,200] s | R4.10.26
131]1-1 EXZEEHIRIFI0EH 1,000 1,200] s+ | H20.8.29
230|16-1 IEELE S EERBEEEER) 1,700 1,900] st | R5.11.29
231121 EELEEEENBEE(SER) 1,500 1,700] st k| R5.11.20

S| 232|131 EEKEEEEEEECEER 1,500 1,700] s b= | R6.6.6
233|6-1 thEHEETEMELECEER 1,500 1,700] st | R4.10.26

1| 234)6-1 EEHEEEEVELEUSER 1,500 1,700] sl | R2.11.25
235|2-1 BEE DIEFEEBL-HDEBEIRDER 1,800 2,000] smursme] H22.4.6

Ml 236[2-1 ZEZICKROONDIVTIMTVAER 1,800 2,000] smursme] H22.4.6
23711 X T4 o YL AV NEERBEE 2,091 2,400] smu1 kg | H23.12.13

7| 240)1-1 EHEE DO DESMER) 2,473 3,000] emu1 ] H25.1.29
2411-1 BEE D =-H DEEHT(DVD) 3,473 5,000] 6# 11 Emsy | H25.1.29

Ul 24211 EEE DO DEE M (V) 5,709 8,000)styrul kel H25.1.29
238|2-1 BRIETEAE HREHERR(EZH) 1,419 1,732 smui @3] R3.6.28

1 239|5-1 HBE M ER2MAEEIRIREE(100R) 1,400 1,800] smuitms| R6.9.18
24941 HBERBEBOFIWHR) 2,000 2,190 smui | H30.1.31
JU|  250|5-1 #BZEHEBFDOFSI(LER) 2,091 2,286 smul @ | RIT.12.24
2510121 MBS BT 2 RASHRARELE(200R9) 2,400 2,800] smursme] R5.7.20
25271 MBEZHET 1 RIEERRIREE(200R)) 2,400 2,800] smuitmu| R6.4.17
253|14-1 ZiH BB FHRAEXRLER) HETAR 1,800 2,000 smutgEs] R4.33
254|8-1 ZREHEHARGE - HBIR) TR 1,900 2,000] smu1 @] R6.10.17

| 255[10-1 BiEEHEHRRGEEMR) iR 1,900 2,000 smui =] R6.8.5
Ul 256)1-1 B ERBERARGERR) FETh 1,900 2,000]| smu L gme| H18.7.7
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258|1-1 hRMIEEEH 1,755 1,905] smu L ame | H13.1.31
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259|2-1 EBMHEBE 1,800 2,000] smus k@] H28.4.15
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266[3-1 BE RIEWE H2 MAEEIRIREE(100R) 1,400 1,800] sl + 4| R3.10.26
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Bl 20471 RBFEEMHER 1 RIEERIEE(200R) 2,400 2,800] smui @] R5.4.18
BNl 202|131 IR EZEHEROTF5I@HR) 2,182 2,381|smutmu| R6.4.17
Rl 203]8-1 MEREZEHEFDOF5I(LR) 2,182 2,381 smutmp| R3.4.20
214151 FEER Z i £ 752 MRS R RIRELE (200R9) 2,400 2,800] smuL ] R3.10.26
207|6-2 FEERE B E TS 2RI HRRIREE (100R9) 1,400 1,800] sl 54| R6.10.17
208|10-1 HMEsR i £ 751 RIS ERIELE(200/) 2,400 2,800] smurms| R6.5.21
209]12-1 ZifE 8 w5 (B6H) 1,400 1,500] 1imurmu| R6.4.11
2105-1 HRETEAR XBFEEHEB2REZR) 1,419 1,732 smul @] R6.9.24
211]3-1 BREEEAR HEREmER2REZR) 1,419 1,732 smuitmyt| R4.4.27
280|2- 1R EEFEHGEEER) HA 1 (EXR) 1,200 O] == H24.8.8
281|3-1EEEFEGREER) AT 1 5E£H) 1,200 O] == R2.8.20
282|2-1EEEFEGEEER) BA D 25 £%) 1,200 O] == H24.8.8
283|3-1IEEEFEGEEER) A I (BEEH) 1,200 O] == R3.2.22
284|3-11EEEFEGEEER) BA D (45 £H) 1,200 O] == R2.8.20
285| M HEEBDOF 564 762] sl kg H18.9.20
| 286\ HMEREFDOFE 1,800 2,000] sm w1 kg ] H18.10.30
87|21 RREFEEBDF 3 1,000 1,200] st s | H26.11.7
289|211 KB FEERBEHDF5I 1,400 1,600] sl k| H26.3.22
29| B0 EHFEEBDOF 1,600 1,800] smul £y H19.7.3
T 2792- 1R EBEBDFSI 1,800 2,000] smu1 ks | H26.5.24
28831 EHIARICLIEBMBHREHES 1,800 2,000] smut b ] H29.7.18
293|124 ZiHE RN (125T44R) 2,755 3,000] smuirsme] R5.8.10
423 ZfF iR 855 1,000 = & H20.11.1
E| 424|ZHBFE HBAN E-ERIK) 100fLLE 10,000 10,000] = & -
A25|ZEFiR HRAN (ECFHRIL) 100fLLE 5,000 5000] = =& -
5371 -1TRIBRIREESE MF 946 1,048] sl | H21.12.16
539|1-11/ME- KAEIRIEESEl MF 1,046 1,143 sl mp | H22.11.25
Bl 540|=mExEnag bhULT LR 2,286 2,600] smul £ mp | H24.12.3
541|5-1 +¥ T4 TS5 F—HBHA[FE15] 5,182 5,400] s 44| R3.10.26
542|5-1 +¥ T4 TS5 F—HBHA[F25] 2,182 2,200] s 4| R3.10.26
5384-1 +¥ T4 TS5 r—BEMEE 2,091 2,400] smurme] R5.6.24
55004-1 X ayT1-av YL M EEHARIE14] 4,755 5,400] smu g ] R6.10.29
551)4-1 £Fa)T4-ao 9 LAV NEEHRAR[F245] 2,755 2,800] smu 4] R6.10.29
03| BHEIRLEHE 791 1,000] smu e | H28.7.27
304|F—7—KRI(T1710A74—hR) 1,200 1,900)21m £ H9.10.13
2] 309|tXxaUT1-¥=27ILNo.1 1,000 1,200] smu L s | S61.2.20
310]z*2)T4-<¥=27J)LNo.2 1,191 1,400 smu £ x| H3T.3.10
2 311|EXa)T4-<¥=217/LNo3 2,091 2,190 smu @] H9.6.17
312| ¥ ) T4 <=2FJLNo4 2,091 2,190 smu | H7.4.1
#l 313|EXaUT4-<=2FILNob 2,282 2,381 smuL & | H12.12.20
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403|Z% 8 & FRMK (30 tvh) 528 600|] = =&
405|EF 1) T4 AL AS) 728 728] = =
407X T1484 L (R6.11 A5 KIEES) 1,455 1455 = =& R6.11
409X 1T840 L (1 EBEH 9,091 9,091] mma
48| R -RUEHEDERIZATTERNE) 3,900 4300] = = H22.4.6
421|security eye 155 600 700 = % H20.3.20
2| 422|securiTY HANDBOOK 255 300 ==& H25.11.1
AN BABAR RS/ —F 500 1,000 1m215m | H26.11.12
A |EF 2T LRSS — 1,428 1,714] = %
4|54 (88) BHR 1,164 1457] = =&
43R MEV (£F) LKA 1,164 1457] = =&
415| R BMEV (BR) LR 1,164 1457] = =&
MN7|xo81E (&) KHR 1,455 1,749] = =&
432|951 E > (£)2015 1,400 2000] ==& H27. 5
2 4338 AE (8R) 2015 1,400 2000] ==& H27. 5
426l X)) T4 TS5 F—1 WP (SP) 1,137 1,300 = =&
427X 1T 4-a Y LB RRAYT (SC) 1,137 1,300 = =&
428|E /1 ¥ AJSSA (7)) 473 800] ==
429|E 2 /\y¥ AJSSA (9')-Y) 473 800] ==
430|E 2/ ¥ AJSSA (1Y) 473 800] ==
435| X1 T4 TS5 —— )L 1Y—P50R (511 Evh) 1,000 1,000 = =&
A2l eF 1) T3 LB R — L 150K (5HI ) 1,000 1,000 = =&
436 ABAA—23FVY)-1) FAE— 555 700 = = H28. 5
4371 ABRAh—23V9-1) SART IL— 555 700 == H28. 5
%l 438 ARRA—DRYI-L) EVY 555 700 = = H28. 5
439 AR N—DRYH-I) K E 555 700 = = H28. 5
4404 BERHh—DRYI-L) 4 500AKLLE 537 680] = = H28. 6
A4 ABERD—DRYH-1L) 48 10004KLLE 528 671] == H28. 6
2449 —H— 900 1,200 = =& H25.6.7
245|5')—o < —H—F75941) 700 900 = =& H25.6.7
246)5)—o<—h—(7'I-) 700 900| = =& H25.6.7
247|157 —o=—Hh—(TY) 700 900 = =& H25.6.7
248|5')—o=—h—HLUY) 700 900| = =& H25.6.7
245-1 |97 -2—H—tyMF7674}) 1,500 2000] = =& H25.6.7
2461 |pUvF-<—h—tvhG L) 1,500 2000] = =& H25.6.7
247-1 |97 -2 —h—tEyNIvY) 1,500 2000] = =& H25.6.7
248-1 |pUwF-=—h—tybGHLLY) 1,500 2000] = =& H25.6.7
410JAJSSA 2T 27 A IL(FrT95—1) 91 93] = =& R3.4
450]AJSSA TS vy (i) M 1,200 1204 = = H30.5
451]|AJSSA T (§fifa) L 1,200 1204 = = H30.5
452|AJSSA T v () LL 1,200 1,204 = =& H30.5
2| 453JAJSSA T (Hif) 3L 1,319 1364 = = H30.5
454|AJSSA TS v (HifR) 4L 1,319 1,364] = & H30.5
455JAJSSA REL A RO v (Fif) M 1,573 1,976] = % H30.5
E| 456)|AJSSA RAUAILRAS P (HHE) L 1,573 1,576) = =& H30.5
457JAJSSA REU AT RO v (Fif) LL 1,573 1,976] = % H30.5
458|AJSSA RAVE U RAL v (Fif) 3L 1,910 20000 == H30.5
] 459JAJSSA REUE I RO Y (HifE) 4L 1,910 20000 == H30.5
460JAJSSA R—JLRU2BRS A — TR (7H0K =) 491 500 = =& RJT.6
420]AJSSA Fru T (AU-Ayva) H4R LL/SL 2,600 2800] = = H28. 11
434JAJSSA FuT-ARSYT 555 557 = =& H29. 7
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544| R £ L{EFEDVD £6% 91,427] 135906] =
544-1|RELIS4EDVD (E145) 16,190 29049 = 4
544-2| &£ LIEFEDVD (F2%) 16,190 29049] = u
544-3|R4£ LIEFEDVD (£3%) 16,190 29049] = u
}| 544-4|R £ L{EFEDVD (F4%) 16,190 29049] = u
544-5|% £ LIEFEDVD (F5%) 19,048 33,906] = u
544-6|R &£ LIS4EDVD (£6%) 19,048 33,906] =
507|iEsh b ZHEDVDE 2% 26,667 43619 = u
507-1|#iFSN S ZHmEDVD (F14) 21,845 24190 =
507-2|#iFS B ZHEDVD (F2%) 21,845 24190 =
5451 & TR REZ—F D ERM B HTIDVD (1) 8,571 13,000 &= %
502|3@FEE 1 #DVD £6% 82,524 106,797] = u
502-1|32BFEZ 1 HDVD (F1%) 16,505 19,418] —#600M
502-2 i FEZE1HDVD (F25) 16,505 19,418] —#600mM
502-3| X BFEE(H 1#DVD (E3%) 16,505 19,418] —#600M
502-4| R BFEEH 1#DVD (F4%) 16,505 19,418] —#600M
502-5| B FEE( 1 #DVD (E5%) 16,505 19,418] —#600M
502-6|33 18 FEE (i 1 #DVD (F6#) 16,505 19,418] —600mM
522|HEHEEHRFEDVD £64 118,095 147619 = n
522-1|5 EmEHEDVD (F1%) 24,762 31,429] =
522-2| T EHEHFDVD (F2%) 24,762 31,429] =
522-3|FT EHEEHFDVD (E3%5) 24,762 31,429] =
7| 522-4|HEBELFEDVD (E4%) 24,762 31,429] =
522-5|F EHEEHEFDVD (E5%5) 24,762 31,429] =
522-6|#HE [ EHKEDVD (F6#) 24,762 31429 = 4
523-1 3B A EEHEFE24DVD (F15) EHER 19,048 247762 =
523-2|3 B A EEHEF24DVD (F2%5) EH R 19,048 247762 =
5241 | R E B £ 7524kDVD (5B 145) Bk 19,048 24762 =
524-2| M R E B £ 75 24RDVD (5F24) Bk 19,048 24762 =
525-1|MEER EE £ 7524kDVD (F1%) EHiR 19,048 24762 =
525-2| R E i £ 7 2#DVD (£2%) £RiR 19,048 247762 =
526 | ik £ 24 B MR IDVD (1) R iR 19,048 247762 = @
528 RIRIZ/EEFE IDVD (£155) 15,238 18,571 m ¥
|  530)-1 Bis o E R B E R S K EDVD (£15) 271E 14,000 20,000] 4% ca40m| R4.3.24~
el 532]2-1 Bis o e E B B X EDVD (£15) $71E 14,000 20,000} 45+ ca40m| R46.1~
Z| 53421 Bist IR e ERSXEDVD(218) LR 14,000 20,000] 45+ c440m|R4.12.16 ~
BE| 536|-1BkEepacsmasE-tEmEovD (@15 2 12,000 18,000] 4% <c440m| R3.7.19~
553\t F2)F 4O LERDVD(E 1) 1,710 3,000] 4+ <c4a40m| H24.76
2| 546|1-13EFELHER1MOVD (2 15) EBR 16,000 20,000} 4% ca30m| H23.4~
2| 57|11 BN EE L1 BDVD (£ 158) EHR 16,000 20,000} 4% ca30m| H23.4~
7l  548|2-3MEERE M EFS1KDVD (£1%5) HETHR EERE 16,000 20,000] 4% <ca30m| R5.1~
5491 -1 E(H £ LB 1EDVD (£15) 25 R 16,000 20,000} 4% ca30m| H23.4~
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A| 600|XKi@/NE FHSEMR 3,960 4400] = R5.12.15
54
T00)57 B E SN 7 ER 8,166 9,073 440 R6.12.16
F| 05|65 mMEEHERNI-ODAE-SLHE 1,620 1,800 330 H25.6.20
107 | B AEEEE SRR BEAEEGE15R) 1,800 2,000 165 H28.4.10
108 EEEABRBEMBEE (F75) 1,800 2,000 165 H27.6.30
B T09\SRAVE —BIGEHIETHED— 1,350 1,500 165 H31.4.25
TO| S ERER LY RE1SE 13,500 15,000 330 R6.8.25
M| SHeEREER LY RE2E 13,500 15,000 330 R6.8.25
E 72| sHeERES LY RE3E 14,400 16,000 330 R6.8.25
3| S EREE L Y RELE 12,600 14,000 330 R6.8.25
NA70BRHERROER -S&KE 1,800 2,000 165 R3.11.25
S| 76|56 ER HERRFHLZBRIRI—/—F 2,880 3,200 330 R6.5.15
TS E R 718 - 1t S REHEITLLE/— 1,800 2,000 165 R6.5.15
T18|RIE/S—h 24 LG EA D EER 1,080 1,200 165 H27.3
M|&EHBIMOHZLEFE KE-SH-BAE 1,800 2,000 165 R5.3.20
13| BEFLDLSENVEIER 1,800 2,000 165 H21.2.20
800| B ERERME (2158 17,100 19,000] sepmy | Mg
801|& B bR BIR A& % (R6.4 B HEITHUNER) SF 320 1,440 1,600] 1#p330M R6.5
803|A A IEHRIZE/ VR Ty o(kR=) 9,900 11,000] sepme | g
Z| 804] HIRERERE -RONURTvo(nkEH) 10,800 12,000] sepme | g
21| AHM T EERONEAERHTAFCEXER: 1 ~49Eh) 455 455| #m=s | R6.1.12
822\ \HFEBHRONEAERHAFCEE:50~299%] 364 364| zpmy | R6.1.12
823 AT B R DONEAERHAFCESTE : 30058 LAY 273 273 zpmy | R6.1.12
D] 805|IKDRAVYE EEmRMAR (MBEEXS) 28,571 - - -
806|IKDRNAYE EERITIR (KB EXS) - 47619 - -
807|I g B R— LAR— B —E X | 98,000f 118,000 - -
808|l I EHPHR - EHERI2FHDH 60,000 60,000 - -
| S1IS|CERIARAXAFRAEHEI0R) 4410 4900] 1#p460m | R5.4.1
814|EEE R&-BERyvNIvY 198 220| szp=z | H28.10.31
816| FR4FEARI AAXERDEZ H IDF AU 2,520 2,800] 1z410m R4.7
817|(ETHRIARAX ERDE = &34 3,150 3,500] 1zma60m R5.6.1
818|Higitt S DREKITE FEHEENIEDEU, 2,880 3,200] 1#m410m | R5.10.30
820|EE H5| - EMBTERARMILERYIVMRESE 1,667 1,852] = =& H28.3.11
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830| 7 A R/N—R R (FAANY)3ESH) A E—(S) 6,273 7,200] 38 8 M1 5 FE L EFEE
831| 7 A RN—FRR (FAANYI3E ) R AE —(M/L) 6,273 7,200] 38 8 i1 5 FH L EE
832| 74 RN—F R (FAAN 3B # A E—(LL/3L) 6,273 7,200] 38 8 M1 5 FE L EE

| 833 TARN—RR(FAANY)3ES) R AE—(XL) 6,273 7,200] 38 8 i1 5 FE L EE
834| 7 A RN—F R (FAANY)3EF) TIL—(S) 6,273 7,200] 38 8 M1 5 FE L EEE
W 835\ FARN—FRR(FAANYY3ER) TIL—(M/L) 6,273 7,200] 38 8 i1 5L J
83674 R/N—H R (FAANyH3{E ) T JL—(LL/3L) 6,273 7,200] 38 8 k175 L JE
I 83FARN=FRR(FAANYI3ES) T IL—(XL) 6,273 7,200] 38 8 s 15 ML JE
838|7 A RN—F R (FAANY)3E ) FL—(S) 6,273 7,200] 38 8 i1 5L FE
¥ 839|FARN—RA(FAANYI3ESH) FL—(M/L) 6,273 7,200] 38 8 i1 5L FE
840| 7 A R/N—F R (FAANyH3{E ) &' L—(LL/3L) 6,273 7,200] 58 8 i1 5L E
841 |7 A RN—F R (FAAN Y34 & L— (XL) 6,273 7,200] 38 8 k175 L JE
842|7 A RN—RZ(FAANYI3ME ) TS5 (S) 6,273 7,200] /n58 8 fiss 1 75 H Lk Et
843|7 4 RN—F R (FAANY)3MEAF) TS5 (M/L) 6,273 7,200 /o588 fiss 1 75 M Lk Et
844 7 A RIN—R R (PAANYY3ME{F) TS5vH(LL/3L) 6,273 7,200] /n58 8 fiss 1 75 M Lk Et
8457 A ZN—F R (FAANy93MEF) TS5 (XL) 6,273 7,200] /o588 fiss 1 75 H Lk Et
846| XA T A R/Sv Y (3AEYE) 1,182 1,714 e 81 5 AL 8L
847|HBIA NS YT 455 600| m2a & i1 5 mLLEEl
848| 7 A R/N—F R (FAANyY3{E{F) 3005 LA E 6,250 7,200 mE
8497 A RN—H R (P4 AN y93{E 1) 300€y L E 1,050 1,714 g
850|NEW7 1 An—%A1=74—h (IR AFISE ) RAE—(7Y- 6,819 8,200| mB & i1 F MLl E
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